

**SUFFICIENT CONDITION FOR A CLASS OF ANALYTIC AND
UNIVALENT FUNCTIONS OF COMPLEX ORDER**

O. A. FADIPE-JOSEPH, A. T. OLADIPO, C. N. EJIEJI

ABSTRACT. We establish a sufficient condition for a class $UCD(\gamma, \lambda, m, n, l, k, b)$ of complex order. Also, a subordination theorem and coefficient bounds for this class of functions are determined.

2000 *Mathematics Subject Classification*: 30C45, 30C80.

Keywords: complex order, Catal derivative operator, Salagean derivative, Ruschewyh derivative operator, subordination principle.

1. INTRODUCTION AND DEFINITIONS

Let \mathcal{A} denote the class of functions of the form

$$f(z) = z + \sum_{k=2}^{\infty} a_k z^k \tag{1}$$

which are analytic in the open unit disk $U = \{z : |z| < 1\}$ and normalized with $f(0) = f_z(0) - 1 = 0$.

A function $f(z)$ of the form (1) belongs to the $UCD(\gamma)$, $\gamma \geq 0$, if $Re f'(z) \geq \gamma |z f''(z)|$, $z \in U$ [3] and [14].

Furthermore a function $f(z)$ of the form (1) belongs to the class $UCD(\gamma, \lambda, m, n, l, k, b)$,

$\gamma \geq 0$, $l \geq 0$, $\lambda \geq 0$ $m \in N$ of complex order $b \neq 0$ ($b \in \mathcal{C}$) if

$$Re \left[1 - \frac{2}{b} + \frac{2 \Phi_n^{m+1}(\lambda, 1) f(z)}{b \Phi_n^m(\lambda, l) f(z)} \right] \leq \beta(\gamma) \tag{2}$$

where all the parameters are as earlier defined and $\Phi_n^m(\lambda, l) := A \rightarrow A$ and

$$\Phi_n^m(\lambda, l) f(z) = D^m(\lambda, l) f(z) * R^n f(z)$$

where $D^m(\lambda, l)f(z)$ is the Catal et al derivative operator [5, 6, 7,10,11, 12] defined as follows:

$$\begin{aligned} D^0(\lambda, l)f(z) &= f(z) = z + \sum_{k=2}^{\infty} a_k z^k \\ D''(\lambda, l)f(z) &= D(\lambda, l)f(z) = D^0(\lambda, l)f(z) \left(\frac{1-\lambda+l}{1+l} \right) f(D^0(\lambda, l)f(z))' \frac{\lambda z}{1+l} \\ &= z + \sum_{k=2}^{\infty} \left(\frac{1+\lambda(k-1)+l}{1+l} \right) a_k z^k \end{aligned}$$

and in general

$$D^m(\lambda, l) = D(D^{m-1}(\lambda, l)f(z)) = z + \sum_{k=2}^{\infty} \left(\frac{1 + \lambda(k-1) + l}{1+l} \right)^m a_k z^k$$

With different choices of the parametrics derivative operators associated to Salagean [13] and Al- Oboudi [1] and the classes of functions studied by Oladipo in [10] could be derived.

Also, R^n is the Ruscheweyh derivative operator and it is defined as

$$R^n f(z) = z + \sum_{k=2}^{\infty} c(n, k) a_k z^k,$$

where

$$c(n, k) = \binom{n+k-1}{n} = \frac{(n+1)_{k-1}}{(1)_{k-1}}.$$

Therefore, $\Phi_n^m(\lambda, l)f(z)$ can be written as

$$\Phi_n^m(\lambda, l)f(z) = z + \sum_{k=2}^{\infty} \left(\frac{1 + \lambda(k-1) + l}{1+l} \right)^m c(n, k) a_k z^k, \quad z \in U \quad (3)$$

Let $p(z)$ (class of Caratheodory functions) be analytic and such that $Rep(z) > 0$ and $p(0) = 1$. $p(z)$ is written in the form

$$p(z) = 1 + \sum_{k=1}^{\infty} p_k z^k \quad (4)$$

and that $|p_k| \leq 2$. $k \geq 1$

Furthermore, let $f(z)$ and $g(z)$ be analytic functions in U , $f(z)$ is said to be subordinate to $g(z)$ in U , written $f \prec g$ or $f(z) \prec g(z)$ ($z \in U$), if there exists a Schwartz function $w(z)$, analytic in U with $w(0) = 0$ and $|w(z)| < 1$ such that $f(z) = g(w(z))$ ($z \in U$)

It is well known that, if the function g is univalent in U , the above subordination is equivalent to $f(0) = g(0)$ and $f(u) \subset g(u)$ (cf [4,13]).

2. COEFFICIENT INEQUALITIES

Theorem 1. Let $F(z) = z + \sum_{k=2}^{\infty} \left(\frac{1+\lambda(k-1)+l}{1+l}\right)^m C(n, k) a_k z^k$, where $F(z) = \Phi_n^m(\lambda, l)f(z)$. If $F(z)$ belongs to the class $UCD(\gamma, \lambda, m, n, l, k, b)$ of complex order b ($b \in \mathbb{C} \setminus \{0\}$), then

$$\sum_{k=2}^{\infty} k(\gamma(k-1) + b) \left(\frac{1+\lambda(k-1)+l}{1+l}\right)^m C(n, k) |a_k| \leq b$$

and all other parameters remained as earlier defined.

Proof. Suppose $F(z) \in UCD(\gamma, \lambda, m, n, l, k, b)$, then

$$\left| \frac{1}{b} z \frac{F''(z)}{F'(z)} \right| = \left| \frac{\frac{1}{b} \sum_{k=2}^{\infty} \left(\frac{1+\lambda(k-1)+l}{1+l}\right)^m C(n, k) k(k-1) a_k z^{k-1}}{1 + \sum_{k=2}^{\infty} k a_k \left(\frac{1+\lambda(k-1)+l}{1+l}\right)^m C(n, k) z^{k-1}} \right|$$

Since $F(z) \in UCD(\gamma, \lambda, m, n, l, k, b)$,

$$\operatorname{Re} \left(\frac{1}{b} z \frac{F''(z)}{F'(z)} \right) \leq \frac{1}{\gamma} \Rightarrow \left| \frac{1}{b} z \frac{F''(z)}{F'(z)} \right| \leq \frac{1}{\gamma}.$$

Therefore,

$$\begin{aligned} & \left| \frac{\frac{1}{b} \sum_{k=2}^{\infty} k(k-1) \left(\frac{1+\lambda(k-1)+l}{1+l}\right)^m C(n, k) a_k z^{k-1}}{1 + \sum_{k=2}^{\infty} k \left(\frac{1+\lambda(k-1)+l}{1+l}\right)^m C(n, k) a_k z^{k-1}} \right| \\ & \leq \frac{\frac{1}{b} \sum_{k=2}^{\infty} k(k-1) \left(\frac{1+\lambda(k-1)+l}{1+l}\right)^m C(n, k) |a_k|}{1 - \sum_{k=2}^{\infty} k \left(\frac{1+\lambda(k-1)+l}{1+l}\right)^m C(n, k) |a_k|} \leq \frac{1}{\gamma} \\ & \quad \gamma \sum_{k=2}^{\infty} k(k-1) \left(\frac{1+\lambda(k-1)+l}{1+l}\right)^m C(n, k) |a_k| \\ & \leq b - \sum_{k=2}^{\infty} b k \left(\frac{1+\lambda(k-1)+l}{1+l}\right)^m C(n, k) |a_k| \\ & \quad \sum_{k=2}^{\infty} (\gamma k(k-1) + b k) \left(\frac{1+\lambda(k-1)+l}{1+l}\right)^m C(n, k) |a_k| \leq b \\ & \quad \sum_{k=2}^{\infty} k(\gamma(k-1) + b) \left(\frac{1+\lambda(k-1)+l}{1+l}\right)^m C(n, k) |a_k| \leq b \end{aligned}$$

Corollary 2. If $b = 1$, $m = 0$, $C(n, k) = 1$ then $f \in UCD(\gamma)$ i.e.,

$$\sum_{k=2}^{\infty} k(\gamma(k-1) + 1) |a_k| \leq 1.$$

Corollary 3. If $b = 1$, $\gamma = 0$, $m = 0$, $C(n, k) = 1$, then f is starlike. i.e., $\sum_{k=2}^{\infty} k |a_k| \leq 1$.

Corollary 4. *If $b = 1$, $\gamma = 1$, $m = 0$ $C(n, k) = 1$, then f is convex i.e., $\sum_{k=2}^{\infty} k^2 |a_k| \leq 1$.*

Theorem 5. *Let $f \in \mathcal{A}$ and suppose*

$$G(z, t) = \frac{1}{b}f(ze^t) + \frac{1}{2}\left(1 - \frac{1}{b}\right)tf(ze^t) \prec f(z)$$

and

$$\operatorname{Re} \left[\lim_{t \rightarrow 0} \frac{G_{tt}(z, t)}{zf'(z)} \right] \leq \beta(\gamma)$$

then $f \in UCD(\gamma)$ of complex order b .

Proof. Suppose $G \prec f$ then $G(0, 0) = f(0) = 0$

$$G(U) = G(z, 0) = \frac{1}{b}f(z) \subset f(z) \Rightarrow G(U) \subset f(U)$$

$$G(0, t) \equiv 0$$

$$\text{Now, } G(z, t) = \frac{1}{b}f(ze^t) + \frac{1}{2}\left(1 - \frac{1}{b}\right)tf(ze^t)$$

$$G_t(z, t) = \frac{1}{b}f'(ze^t)(ze^t) + \frac{1}{2}\left(1 - \frac{1}{b}\right)f(ze^t) + \frac{1}{2}\left(1 - \frac{1}{b}\right)tf'(ze^t)(ze^t)$$

$$G_{tt}(z, t) = \frac{1}{b}f''(ze^t)(ze^t)^2 + \frac{1}{b}f'(ze^t)(ze^t) + \frac{1}{2}\left(1 - \frac{1}{b}\right)f'(ze^t)(ze^t) + \frac{1}{2}\left(1 - \frac{1}{b}\right)f'(ze^t)(ze^t) + \frac{1}{2}\left(1 - \frac{1}{b}\right)tf''(ze^t)(ze^t)^2 + \frac{1}{2}\left(1 - \frac{1}{b}\right)tf'(ze^t)(ze^t)$$

$$\lim_{t \rightarrow 0} \frac{G_{tt}(z, t)}{zf'(z)} = \frac{1}{b} \frac{f''(z)z^2}{zf'(z)} + \frac{1}{b} \frac{f'(z)z}{zf'(z)} + \frac{1}{2}\left(1 - \frac{1}{b}\right) \frac{f'(z)^2}{zf'(z)} + \frac{1}{2}\left(1 - \frac{1}{b}\right) \frac{f'(z)}{zf'(z)}$$

$$= \frac{1}{b} \frac{f''(z)}{f'(z)} + \frac{1}{b} + \frac{1}{2}\left(1 - \frac{1}{b}\right) + \frac{1}{2}\left(1 - \frac{1}{b}\right)$$

$$= \frac{1}{b}z \frac{f''(z)}{f'(z)} + 1$$

$$\text{Therefore, } \operatorname{Re} \left[\lim_{t \rightarrow 0} \frac{G_{tt}(z, t)}{zf'(z)} \right] = \operatorname{Re} \left[\frac{1}{b}z \frac{f''(z)}{f'(z)} + 1 \right]$$

Hence,

$$\operatorname{Re} \left[1 + \frac{1}{b} \frac{zf''(z)}{f'(z)} \right] \leq \beta(\gamma)$$

This gives the desired result.

3. COEFFICIENT BOUNDS

Our next result is on coefficient bounds for the function in the class $UCD(\gamma, \lambda, m, n, k, b, l)$

Theorem 6. *Let $f(z)$ belong to the class $UCD(\gamma, \lambda, m, n, k, b, l)$ of complex order b ($b \in \mathbb{C} \setminus \{0\}$), then*

$$\begin{aligned} |a_2| &\leq \frac{b}{\left(\frac{1+\lambda+l}{1+l}\right)^m [\gamma(\frac{1+\lambda+l}{1+l}) - \gamma - b] C(n, 2)} \\ |a_3| &\leq \frac{b}{\left(\frac{1+2\lambda+l}{1+l}\right)^m [\gamma(\frac{1+2\lambda+l}{1+l}) - \gamma - b] C(n, 3)} \\ |a_4| &\leq \frac{b[\gamma(\frac{1+\lambda+l}{1+l}) - \gamma - b] + b^2}{\left(\frac{1+3\lambda+l}{1+l}\right)^m [\gamma(\frac{1+3\lambda+l}{1+l}) - \gamma - b] [\gamma(\frac{1+\lambda+l}{1+l}) - \gamma - b] C(n, 4)} \end{aligned}$$

Proof. Let $\frac{1 - \frac{2}{b} + \frac{2}{b} \frac{\phi^{m+1}(\lambda, l)f(z)}{\phi^m(\lambda, l)f(z)} - \beta}{\beta(\gamma) - 1} = p(z)$

$$b\phi^m(\lambda, l)f(z) - 2\phi^m(\lambda, l)f(z) + 2\phi^{m+1}(\lambda, l)f(z) - \beta b\phi^m(\lambda, l)f(z) = (\beta(\gamma) - 1)b\phi^m(\lambda, l)f(z)(p(z))$$

$$2[\phi^{m+1}(\lambda, l)f(z) - \phi^m(\lambda, l)f(z)] = b(\beta(\gamma) - 1)\phi^m(\lambda, l)f(z)[p(z) + 1]$$

$$2[\phi^{m+1}(\lambda, l)f(z) - \phi^m(\lambda, l)f(z)] = b(\beta(\gamma) - 1)\phi^m(\lambda, l)f(z)[2 + \sum_{k=1}^{\infty} p_k z^k]$$

$$2[\phi^{m+1}(\lambda, l)f(z) - \phi^m(\lambda, l)f(z)] = \frac{b}{\gamma}\phi^m(\lambda, l)f(z)[2 + \sum_{k=1}^{\infty} p_k z^k]$$

$$2\gamma[\phi^{m+1}(\lambda, l)f(z) - \phi^m(\lambda, l)f(z)] = b\phi^m(\lambda, l)f(z)[2 + \sum_{k=1}^{\infty} p_k z^k]$$

$$2\gamma \left[\sum_{k=2}^{\infty} \left(\frac{1+\lambda(k-1)+l}{1+l}\right)^{m+1} C(n, k) - \sum_{k=2}^{\infty} \left(\frac{1+\lambda(k-1)+l}{1+l}\right)^m C(n, k) \right] a_k z^k - b\phi^m(\lambda, l)f(z) \sum_{k=1}^{\infty} p_k z^k = 2b\phi^m(\lambda, l)f(z)$$

$$\begin{aligned} &2\gamma \left[\left(\frac{1+\lambda+l}{1+l}\right)^{m+1} C(n, 2)a_2 z^2 + \left(\frac{1+2\lambda+l}{1+l}\right)^{m+1} C(n, 3)a_3 z^3 + \left(\frac{1+3\lambda+l}{1+l}\right)^{m+1} C(n, 4)a_4 z^4 \right. \\ &+ \left. \left(\frac{1+4\lambda+l}{1+l}\right)^{m+1} C(n, 5)a_5 z^5 + \dots - \left(\frac{1+\lambda+l}{1+l}\right)^m C(n, 2)a_2 z^2 - \left(\frac{1+2\lambda+l}{1+l}\right)^m C(n, 3)a_3 z^3 \right. \\ &\left. - \left(\frac{1+3\lambda+l}{1+l}\right)^m C(n, 4)a_4 z^4 - \left(\frac{1+4\lambda+l}{1+l}\right)^m C(n, 5)a_5 z^5 - \dots - b \left[z + \sum_{k=2}^{\infty} \left(\frac{1+\lambda(k-1)+l}{1+l}\right)^m a_k z^k \right] \right] \\ &\sum_{k=1}^{\infty} p_k z^k = 2b \left[z + \sum_{k=2}^{\infty} \left(\frac{1+\lambda(k-1)+l}{1+l}\right)^m C(n, k) a_k z^k \right] \end{aligned}$$

$$2\gamma \left[\left(\frac{1+\lambda+l}{1+l}\right)^{m+1} C(n, 2)a_2 - \left(\frac{1+\lambda+l}{1+l}\right)^m C(n, 2)a_2 \right] - bp_1 = 2b \left(\frac{1+\lambda+l}{1+l}\right)^m C(n, 2)a_2$$

$$2\gamma \left[\left(\frac{1+\lambda+l}{1+l}\right)^{m+1} C(n, 2)a_2 - \left(\frac{1+\lambda+l}{1+l}\right)^m C(n, 2)a_2 \right] - 2b \left(\frac{1+\lambda+l}{1+l}\right)^m C(n, 2)a_2 = bp_1$$

$$a_2 = \frac{bp_1}{2 \left(\frac{1+\lambda+l}{1+l}\right)^m [\gamma(\frac{1+\lambda+l}{1+l}) - \gamma - b]^{m+1}}$$

$$\begin{aligned}
 |a_2| &\leq \frac{2b}{2\left(\frac{1+\lambda+l}{1+l}\right)^m [\gamma\left(\frac{1+\lambda+1}{1+l}\right) - \gamma - b] C(n,2)} \\
 2\gamma \left[\left(\frac{1+2\lambda+l}{1+l}\right)^{m+1} C(n,3)a_3 - \left(\frac{1+2\lambda+l}{1+l}\right)^m C(n,3)a_3 \right] - bp_2 &= 2b\left(\frac{1+2\lambda+l}{1+l}\right)^m C(n,3)a_3 \\
 2\gamma \left[\left(\frac{1+2\lambda+l}{1+l}\right)^{m+1} C(n,3)a_3 - \left(\frac{1+2\lambda+l}{1+l}\right)^m C(n,3)a_3 \right] - 2b\left(\frac{1+2\lambda+l}{1+l}\right)^m C(n,3)a_3 &= bp_2 \\
 a_3 &= \frac{bp_2}{2\left(\frac{1+2\lambda+l}{1+l}\right)^m [\gamma\left(\frac{1+2\lambda+1}{1+l}\right) - \gamma - b]^{n+1}} \\
 |a_3| &\leq \frac{b}{\left(\frac{1+2\lambda+l}{1+l}\right)^m [\gamma\left(\frac{1+2\lambda+1}{1+l}\right) - \gamma - b] C(n,3)} \\
 2\gamma \left[\left(\frac{1+3\lambda+l}{1+l}\right)^{m+1} C(n,4)a_4 - \left(\frac{1+3\lambda+l}{1+l}\right)^m C(n,4)a_4 \right] - bp_3 - b\left(\frac{1+\lambda+l}{1+l}\right)^m C(n,2)p_1a_2 &= \\
 2b\left(\frac{1+3\lambda+l}{1+l}\right)^m C(n,4)a_4 \\
 2\gamma \left[\left(\frac{1+3\lambda+l}{1+l}\right)^{m+1} C(n,4)a_4 - \left(\frac{1+3\lambda+l}{1+l}\right)^m C(n,4)a_4 \right] - 2b\left(\frac{1+3\lambda+l}{1+l}\right)^m C(n,4)a_4 \\
 - \frac{b^2 p_1^2}{2[\gamma\left(\frac{1+\lambda+l}{1+l}\right) - \gamma - b]} &= bp_3 \\
 2\gamma \left[\left(\frac{1+3\lambda+l}{1+l}\right)^{m+1} C(n,4)a_4 - \left(\frac{1+3\lambda+l}{1+l}\right)^m C(n,4)a_4 \right] - 2b\left(\frac{1+3\lambda+l}{1+l}\right)^m C(n,4)a_4 &= bp_3 + \\
 \frac{b^2 p_1^2}{2[\gamma\left(\frac{1+\lambda+l}{1+l}\right) - \gamma - b]} \\
 2\gamma \left[\left(\frac{1+3\lambda+l}{1+l}\right)^{m+1} C(n,4)a_4 - \left(\frac{1+3\lambda+l}{1+l}\right)^m C(n,4)a_4 \right] - 2b\left(\frac{1+3\lambda+l}{1+l}\right)^m C(n,4)a_4 &= \\
 \frac{2bp_3[\gamma\left(\frac{1+\lambda+l}{1+l}\right) - \gamma - b] + b^2 p_1^2}{2[\gamma\left(\frac{1+\lambda+l}{1+l}\right) - \gamma - b]} \\
 2\left(\frac{1+3\lambda+l}{1+l}\right)^m \left[\gamma\left(\frac{1+3\lambda+l}{1+l}\right) - \gamma - b \right] C(n,4)a_4 \\
 = \frac{2bp_3[\gamma\left(\frac{1+\lambda+l}{1+l}\right) - \gamma - b] + b^2 p_1^2}{2[\gamma\left(\frac{1+\lambda+l}{1+l}\right) - \gamma - b]} \\
 a_4 &= \frac{2bp_3[\gamma\left(\frac{1+\lambda+l}{1+l}\right) - \gamma - b] + b^2 p_1^2}{4\left(\frac{1+3\lambda+l}{1+l}\right)^m [\gamma\left(\frac{1+3\lambda+1}{1+l}\right) - \gamma - b] [\gamma\left(\frac{1+\lambda+1}{1+l}\right) - \gamma - b] C(n,4)} \\
 |a_4| &\leq \frac{b[\gamma\left(\frac{1+2\lambda+l}{1+l}\right) - \gamma - b] + b^2}{\left(\frac{1+3\lambda+1}{1+l}\right)^m [\gamma\left(\frac{1+3\lambda+l}{1+l}\right) - \gamma - b] [\gamma\left(\frac{1+\lambda+1}{1+l}\right) - \gamma - b] C(n,4)}
 \end{aligned}$$

Acknowledgements. The first author expresses her sincerest thanks to the Abdus Salam International Centre for Theoretical Physics (ICTP), Trieste, Italy for the associate award received.

REFERENCES

- [1] M. K. Aouf, A. Shamandy, A. O. Mostafa, and M. Madan, *A subclass of m - w -starlike functions*, Acta Universitatis Apulensis, 23 (2010) 135 - 142.
- [2] D. Breaz *Integral operators on the $TUCD(\alpha)$ -class*, Proceedings of the International Conference on Theory and Applications of Mathematics and Informatics, Thessaloniki, Greece. (2004) 40-49.
- [3] O. A. Fadipe - Joseph and T. O. Opoola *Subordination Principle in Univalent Functions Theory*, African Journal of Science and Technology(AJST) Science and Engineering Series, Vol. 10, No. 1, (2009) pp.89 - 92.
- [4] S. Kanas and F. Ronning *Uniform Starlike and Convex functions and other related classes of Univalent functions* Ann. Univ. Mariae Curie-Sklodowska, Section A, 53 (1999) 95 -105.
- [5] H. Mahzoon and S. Latha *On certain properties of neighbourhoods of multivalent functions involving the generalized Saitoh operator* J. Inq. Pur. Appl. Math., vol. 10, Issue 4, Article 112,(2009) 6pp.
- [6] A. Mugur and S. Owa *On some subclasses of univalent functions* Journal of Inequalities in Pure and Applied Mathematics 6, No 3, Article 70(2005), 1 - 14.
- [7] A. T. Oladipo *On a subclass of univalent functions* Advances in Applied Mathematical Analysis 4, No 2(2009) 87 - 93.
- [8] A. T. Oladipo *New subclasses of analytic functions with respect to other points* International Journal of Pure and Applied Mathematics, vol. 75, No 1 (2012) 1-12.
- [9] A. T. Oladipo *On a subclass of univalent functions* Advances in Applied Mathematical Analysis, 4, No 2 (2009) 87 - 93.
- [10] A. T. Oladipo *Coefficient Inequalities and Convolution properties for certain new classes of analytic univalent functions in the unit disk* Far East Journal of Mathematical Sciences ,vol. 62, No 2 (2012) 219-232.
- [11] T. Rosy , A. B. Stephen , K. G. Subramanian , H. Silverman *Classes of convex functions* International J. Math. and Math Sci., Vol. 23, No 12 (2000) 819-825.
- [12] G. S. Salagean *Subclasses of univalent functions*, Lecture Notes in Math., Springer-Verlag, Berlin, Heidelberg and New York, 1983, 362 - 372.
- [13] H. M. Strivastava and S. Owa *Current Topics in Analytic Function Theory*, World scientific, Singapore, New Jersey, London, Hongkong, (1992).

Fadipe-Joseph, O. A.

Department of Mathematics,

University of Ilorin, Ilorin, Nigeria;

The Abdus Salam International Centre for Theoretical Physics, Trieste, Italy

email: *famelov@unilorin.edu.ng; ofadipe@ictp.it*

Oladipo, A. T.

Department of Pure and Applied Mathematics,

Ladoke Akintola University of Technology, Ogbomoso, Nigeria

email: *tinuoye64@yahoo.com*

Ejeji, C. N.

Department of Mathematics,

University of Ilorin, Ilorin, Nigeria

email: *ejeji.cn@unilorin.edu.ng*